
IE961−2A, 51

Colorimetric transformation  i = 4
c*i  = c*4  = a c*b with a = 0,75; b = 1,00

rgb −> cmyn*e cmyn*e −> cmyn*e4



IE961−2A, 52

Colorimetric transformation  i = 4
c*i  = c*4  = a c*b with a = 0,75; b = 1,00

rgb −> cmyn*e cmyn*e −> cmyn*e4



IE961−2A, 53

Colorimetric transformation  i = 4
c*i  = c*4  = a c*b with a = 0,75; b = 1,00

rgb −> cmyn*e cmyn*e −> cmyn*e4



IE961−2A, 54

Colorimetric transformation  i = 4
c*i  = c*4  = a c*b with a = 0,75; b = 1,00

rgb −> cmyn*e cmyn*e −> cmyn*e4



IE961−2A, 55

Colorimetric transformation  i = 4
c*i  = c*4  = a c*b with a = 0,75; b = 1,00

rgb −> cmyn*e cmyn*e −> cmyn*e4



IE961−2A, 56

Colorimetric transformation  i = 4
c*i  = c*4  = a c*b with a = 0,75; b = 1,00

rgb −> cmyn*e cmyn*e −> cmyn*e4


